Name SOL\/’Cb\ 6098

1. What are the first two (non-zero) terms in the Fourier series expansion of the square wave function
shown? The function is zero for half a cycle and 1 for the other half. It's symmetric about t=0.
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2. A linear harmonic oscillator is driven by a force F = mAcoswt for all time.
A=1m/s?, m=1kg. The undamped resonant frequency is w, = 3 s, the damping p = 0.5 s-1.
The driving frequency is w = V13 s-1.

a) What is the equation of motion x(t)? ~ MA —# *‘B an Q{%b’ﬁ‘“ &M =4
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b) An impulse of 2 kg-m/s is applied to the oscillator at t=0. (The force in part a continues unabated.)
What is the motion for t>0?
Sketch the motion x vs. t for t>0.
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